

137)

$$96 + (-90) + (-35) \times 0 \div 9 \div 4 \times (-10) + 6 =$$

138)

$$80 - 6 \times 7 \div 1 \div 1 \times 0 \times (-3) \div 54 =$$

139)

$$0 \div 8 \times (-3) \div 7 \times (-4) - 4 \div 4 + 3 =$$

140)

$$16 - 89 + 70 - 22 - 32 \div 4 - 0 \div (-8) =$$

141)

$$8 \div (-8) \times (-8) + (-4) + 0 \times 12 \div 3 \times 1 =$$

142)

$$9 \div 9 - 7 - 42 + 16 + 70 \times 0 + 89 =$$

143)

$$0 \times 2 \div (-1) \div 1 + 10 \times 0 \times 4 \times 26 =$$

144)

$$0 \div (-3) \times 81 \times 36 \times 25 \times (-71) \times 6 \times 8 =$$